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31 » 162 20 22 25 27 282312 32 35 37 40 42 4
1

50 52 55 575m
6 46 41 3532 3 3 29 26 245225 21 1

g 16 15 14 t

31 » 17120 22 256 27 299 33 35 37 40 42 45 47 50 52 55 m
6 5 44 38 34 3 3 28 26 24 225205195 18 17 16 t

31 - 0 22 25 27 30 32 349 386 40 42 45 47 50 m
6 53 46 42 36 34 3 3 29 27 2523522 t
()
31 - 20 22 258286 30 32 349 386 40 42 45 m W W
6 53 46 42 36 34 3 3 29 27 25 t 6
3 - 0375
34 » 0 22 25 27 30 32 349 386 40 m N !
6 53 4642 3634 3 3 29t (m)
31 - 20 22 25 27 30 32 By —— = - 0375t
6 53 46 42 36 34 3 i
31 > 0 2 25 286 30 m

6 53 46 42 365t
24 » 166 20 22 25 27 294 30 32 35 37 40 42 45 47 50 52 55 575m
6 48 43 38 33 3 '3 28 2523 21 19 18 165153 145134 1,25 t

24 » 175 20 22 25 21 30 312317 35 37 40 42 45 47 50 52 55 m
6 51 46 39 36 31 3 3 26525 22 21 19 18 165157 145 t

24 » 204 22 25 27 30 32 35 364 371 40 42 45 47 50 m
6 55 47 43 38 3532 3 3 27 2623522 205t

24 » 204 22 25 27 30 32 35 364371 40 42 45 m o g
6 55 47 43 38 35 32 3 3 27 26235t 6
- 01t
24 » 204 22 25 27 30 32 35 364 371 40 m 9 \\__:ﬁ
6 55 47 43 38 3532 3 3 27t (m)
24 » 204 22 25 271 30 32 3B n —— =T -01t

6 55 47 43 38 35 32 t

24 » 204 22 25 21 30
6 55 47 43 38 t

ravava, m— 3450 kg 2250 kg

57,5m 14,3m 5 - 17 250

55m 14,3 m 4 1 16 050

50m 13m 4 1 16 050 31y
45m 13m 3 2 14 850

40m 13m 4 - 13800

35m 13m 3 1 12 600

30m 13m 2 2 11400

H(m)] 401 301 201
A 70 65 60

H(m)] 501 401 301 201

A®M) 70 55 45 45

Hm)| 514 481 448 398 348 298 248 198
AWM 84 72 54 48 42 42 42 3

H(m)| 581 548 498 448 398 348 298 248 198
A ()] 114 102 78 54 48 42 42 42 36

HERKULES



POTAIN MC 125 B B HERKULES

UDZWIG MAKSYMALNY 6 TON

ch-PS
hp o kW

m/mn 3 =12 236 248— 68 — 92 15—=6 — 18 = 24 =34 — 46
30 22 260 m

t 3 3 301 2,258 1,55 HO75H 6 6 6 45 3 15

m/min 15-30- 58 4 3
tr/min
U/min 0—-08 2x6 2x44
rpm
m/min 25 2x4  2x29
m/min 12,5-25 2x7T 2x5.2
m/min 15-30 4x5 4x37
400 V (+6% -10%) 50 Hz 33 LVF : 50 kVA
33LVF 15
Optima
m/mn -
92 + 207
i 4
68 U
36
075 15 3t
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